Bellwork Geo  Monday, February 3, 2020

1. The diagonals of a Rhombus are 16 inches and 12 inches long. Find the perimeter of the Rhombus.

2. The area of a Rectangle is 120 cm2. If one side is 8 cm long find the length of each diagonal.

3. Find the measure of each numbered angle in this Rectangle.

4. Use the formulas for slope, distance, and midpoint and the properties of each of the quadrilaterals to
determine the most precise name for quadrilateral ABCD: Parallelogram, Rhombus, Rectangle, or just
Quadrilateral: A(7,-5)  B(3,-11) C(-9,-3) D(-5,3)
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2. The area of a Rectangle is 120 cm?. If one side is 8 cm long find the length of each diagonal.
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3. Fin;\i the measure of each numbered angle in this Rectangle.
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4. Use the formulas for slope, distance, and midpoint and the properties of each of the quéﬁ?ﬂ?—mls};[
determine the most precise name for quadrilateral ABCD: Parallelogram, Rhombus, Rectangle, or just
Quadrilateral:

A(7,-5)  B@3,-11) C(-9,-3) D(-5,3)
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